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Chemistry 090 — Unit 6
Answers to Practice Problems

Balance the following and indicate the type of chemical reaction.

2HeO —>2Hg + O,

ZH(OH)2 + HzSO4 — ZHSO4 + 2H20

2 PbO,
2Al + 6HCI —» 2AICl; + 3H;

— 2PbO + O,

combination
decomposition

double replacement:
neutralization

decomposition

single replacement

FCz(SO4)3 + 3Ba(OH)2 —> 3BaSO4 (S) + 2F€(OH)3 (S)

2A1 + 3 CUSO4 - Alz(SO4)3 + 3Cu
3 Mg + N, > MgSNZ
3 FeC12 + 2 Na3P04 - Fe3(PO4)2 (S) + 6 NaCl

2CH,CHO + 110, » 8CO, + 8 H,O

Bi(NO;); + 3 NaOH — Bi(OH);(s) + 3 NaNO;
FeS + 2 HBr
P4O10
Cal,

— FeBr, + H,S (g)
+ 6H,0 — 4 H;PO,

+ H,80, — CaSO.(s) + 2HI

CsH,COOH + 50, - 4CO, + 4H,0
Mg(CN), + 2HCI
(NH,),S + 2HBr
H,SO, + 2NaC,H;0,

> 2HCN(g) + MgCl,
- 2 NH Br + st (g)

—> N&zSO4

4Fe + 30, = 2 Fe,04

double replacement:
precipitation

single replacement
combination

double replacement:
precipitation

combustion

double replacement
double replacement
combination

double replacement:
precipitation

combustion
double replacement

double replacement

+ 2 HCH;0;

double replacement

combination



